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Alex H— Commentary
General comments

The candidate shows good knowledge of the subject matter in places, though especially in
Investigation three there is a total lack of any application of that knowledge which has clearly
impacted on marks. Analysis and evaluation is weak throughout the work.

Investigation 1

There is a good list of factors that make a successful entrepreneur, though there is little expansion
upon that good start. Application of the stated factors to Heather and Matthew is present, though

again there is little expansion. A judgement is made for AO3, though there is no explanation as to
why Heather’s attributes are more important than Matthew’s in making a successful entrepreneur.

Investigation 2

This investigation starts well, though stating that market research is sometimes known as primary
research is a little confusing. The introduction of niche and mass market is useful, given Matthew's
circumstances, though this connection is not really made. Secondary research is introduced, with
good application to Matthew’s proposed business, though the knowledge base is rather limited to
various surveys. Data on incomes is appropriate, but the data on marriages is not rally utilised
within the work. Analysis and valuation is very limited. More data is needed in order to give the
opportunity to analyse and give evidence to help justify any recommendations made.

Investigation 3

The knowledge base in this investigation is good, with understanding shown of the pricing
strategies covered. It is a pity that the candidate did not make any attempt to apply that knowledge
to Matthew and the different products/services he is likely to be offering. There is a
recommendation made, along with a statement as to how that strategy might change over time.
There is however, no explanation as to why these particular strategies are being put forward.

Alex H- Marking

AO1 AO2 AO3 Total
Investigation 1 2 1 1 4
Investigation 2 3 4 2 9
Investigation 3 4 0 1 5

This gives a total of 18 marks, placing the candidate just into a notional grade F.
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